Two Seater Gas Build Sheet — Shaller

ITEM QTY DESCRIPTION
174C 2 "D" Rubber, 28" New Style 2S
174E 2 "D" Rubber, 3" Side Mounting Plate
172F2 4 "D" Rubber, 4" New HD 2
175E 1 "D" Rubber, 6" Rear, 2-2 Hole New HD
175D 1 "D" Rubber, 6" Front, 2-1 Hole New HD
259 7 "D" Rubber, Bushings (Spacer)
328 4 4" Flat Plate With Counter Sunk Hole
326 1 6" Flat Plate, Front, 1-Hole
326A 1 6" Flat Plate, Rear, 2-Hole
469AS 2 Aluminum, Side Step, 2S, (No Nerf Bar)
113E 1 Axle, Rear 1", 2S, 41-1/4"  (Needs Pin)
121F 1 Bellcrank, 2S Throttle New Gov Style
121BS 1 BellCrank, Shaft, Throttle, 2S, 11-3/8" OAL
393A 1 Belt Guard Low Mounting Bracket for 2S
807 1 Belt Guard Sprocket Hole Cover, W/ Hardware, 2- 1/4" Panel Nuts, 2- 1/4" x 5/8 Bolts, 2- 1/4" FW
116A 1 Belt Guard, For 70T - 90T Sprockets, W/Bolts and Flat Washers
118B 1 Bias Bar, Brake, 2S, 25-3/4", W/ 1/4" X 1-1/4" GR8, 1/4" Nut
125 2 Brake Assembly, With Washer And Arm
133A 1 Brake Pedal, 2S New Style Big Pad
134C 1 Brake Rod, 50 1/2" (2S)
150F 2 Bumper Half, 2S, 4" x .360"
155 1 Bumper Strap, Front, SS Or 2S
155B 1 Bumper Strap, Rear For 2S
185C 1 Bumper, Front Angle, 5/16", 5-Hole 2S, 30-3/8" Long
185A 1 Bumper, Rear Angle, 1/4" thick (23" Long), SS & 2S
159 12 Bushings, Brass, 5/8" ID, (Steering, Bellcranks, Brake & Gas Pedals)
166B Center Panel, 2S (Black) (Upholstery Seat)
166CY Center Panel, 2S (Caution Yellow) (Upholstery Seat)
166DB Center Panel, 2S (Dark blue) (Upholstery Seat)
166DG Center Panel, 2S (Dark Green) (Upholstery Seat)
166LB Center Panel, 2S (Light Blue) (Upholstery Seat)
166LG Center Panel, 2S (Lime Green) (Upholstery Seat)
166MB Center Panel, 2S (Medium Blue) (Upholstery Seat)
1660 Center Panel, 2S (Orange) (Upholstery Seat)
166P Center Panel, 2S (Purple) (Upholstery Seat)
166R Center Panel, 2S (Red) (Upholstery Seat)
166W Center Panel, 2S (White) (Upholstery Seat)
166Y Center Panel, 2S (Yellow) (Upholstery Seat)
166AU Center Panel, 2S, Stainless, (Upholstery Seat)
1608 5  Clevis (1/4")
617B 1 Drive Belt, 1000-GT Mitsuboshi
701 1 Eyebolt for Throttle, 3/16 X 1-3/8 Shank Length, Eye ID 5/16, 2" OAL w/ Nut
659 1 Fenders, Rear, 2S, Pair, with Bracket
190G 1 Fuel Line, Bolt on %" Loom Clamp
601A 1 Fuel Line, Hose Clamp, Spring Clamp (black hose only)



ITEM
194A
189E
189ETS
199A
199B
356C
200B
205A
130
249B
245B
246B
461AA
218

218B

356
190B
622

358C
219J

QTY

1
1
2
1
1
1
2
2
2
1
1
1
1
1

1

1
1

641KW270 1

217B

239LUB
239LUCY
239LUDB
239LUDG
239LULB
239LULG
239LUMB
239LUO
239LUP
239LUR
239LUW

1

DESCRIPTION
Fuel Tank, Honda Metal GX270 with Cap
Fuel Tank, 5-Gal EPA Tank with fittings and cap
Fuel Tank, 5-Gal EPA Tank Strap w/ Hardware (2 - 1/4" x 1" bolts, 2 - Nylok Nuts, 4 Flat Washers)
Gas Pedal, New Style Big Pad, 2S
Gas/Brake Pedal, Shaft, 2S, 13-1/4" L
Governor, Spring Cover 9Hp 2S
Hub, Front, 1" (with bearings & seals)
Hub, Rear, 1” (with bearings & seals)
Brake Drum
Sprocket, 85-T
Sprocket, 70-T
Sprocket, 90-T
Motor Mount Strap with Pull Stud (9 hp) W/ 5/16-18 Nylok & FW

Motor, Honda GX270 RT2 RSG2 (9 HP) with 2011 New Style Silent Muffler and Lighting Coil
*(Upgrade Option on SS)

Muffler Guard, 9Hp New Silent Muffler, Covers Muffler Only, with Vibration Grommets(Muffler
must have Exhaust Deflector)

Governor, Cover Plate 9 HP
Fuel Line Kit, SS, 2S, RK, 9Hp (black hose, clamps, filter) 19-1/2" OAL

Pull Cord Holder, Carb Mount w/ Hardware, 2 Ea 6MM Coupler Nut, 2 Ea 6MM-1.0 x 16MM, 4 ea
1/4" FW

Muffler Support Bracket 9 HP New Style with Hardware fits 2011 GX270 Muffler
Muffler, Exhaust Deflector, Shaller Part
Toggle/Kill Switch (On/Off) Wire GX270

Motor, Honda GX270, Prep. Charge, for Installing Motor Covers, Installing Fuel Hose, and
Relocating Gov. Spring (labor only)

Fuel Line,Gates Black, 1/4" (44" Vent Hose w/ Clamp)
Fuel Line (black per ft) Gates, 1/4"

Fuel Line, Hose Clamp, Spring Clamp (black hose only)
Sprocket 18-T M

Sprocket 22-T M

Sprocket 26-T M

Sprocket, Washer (upper),W/Bolt & Washer, 8mm x 35mm & 5/16 FW
Seat Belt, 4 Pt., Padded

Plates, Serial # (Blank)

Shims for Motor Mount 1/8" for 9HP

Shims for Motor Mount 1/4" w/ Pull Stud (9HP)

Side Panel, 2S, (Left), Upholstery Seat, Black

Side Panel, 2S, (Left), Upholstery Seat, Caution Yellow
Side Panel, 2S, (Left), Upholstery Seat, Dark Blue

Side Panel, 2S, (Left), Upholstery Seat, Dark Green
Side Panel, 2S, (Left), Upholstery Seat, Light Blue
Side Panel, 2S, (Left), Upholstery Seat, Lime Green
Side Panel, 2S, (Left), Upholstery Seat, Medium Blue
Side Panel, 2S, (Left), Upholstery Seat, Orange

Side Panel, 2S, (Left), Upholstery Seat, Purple

Side Panel, 2S, (Left), Upholstery Seat, Red

Side Panel, 2S, (Left), Upholstery Seat, White



ITEM
239LUY
239RUB
239RUCY
239RUDB
239RUDG
239RULB
239RULG
239RUMB
239RUO
239RUP
239RUR
239RUW
239RUY
239BL
239BR
236BB
235BB
467
240
260A
275E
305A
305
265E
265D
269
296B
296A
296
299B
315TR
300HD
315RS
641
641A
641B
325B
325
161C
271
210
210A
323HT
323HF

148A
146A

QTY

[ —

NN

DESCRIPTION
Side Panel, 2S, (Left), Upholstery Seat, Yellow
Side Panel, 2S, (Right), Upholstery Seat, Black
Side Panel, 2S, (Right), Upholstery Seat, Caution Yellow
Side Panel, 2S, (Right), Upholstery Seat, Dark Blue
Side Panel, 2S, (Right), Upholstery Seat, Dark Green
Side Panel, 2S, (Right), Upholstery Seat, Light Blue
Side Panel, 2S, (Right), Upholstery Seat, Lime Green
Side Panel, 2S, (Right), Upholstery Seat, Medium Blue
Side Panel, 2S, (Right), Upholstery Seat, Orange
Side Panel, 2S, (Right), Upholstery Seat, Purple
Side Panel, 2S, (Right), Upholstery Seat, Red
Side Panel, 2S, (Right), Upholstery Seat, White
Side Panel, 2S, (Right), Upholstery Seat, Yellow
Side Panel, 2S, Stainless, Regular Seat, (Left)
Side Panel, 2S, Stainless, Regular Seat, (Right)
Spindle, Left 1"
Spindle, Right, 1"
Spring, Return 2S Throttle
Spring, Return, (throttle or brake)
Steering Hub New
Steering Shaft New SS (shaft only)
Steering Tie Rod End, Steering, Left Hand, 3/8", EFL6
Steering Tie Rod End, Steering, Right Hand, 3/8", EF6
Steering Tie Rod, (no ends) 2S, Short, 3/8" X 8-3/8"
Steering Tie Rod, (no ends) 2S, Long, 3/8" X 22"
Steering Wheel, H.D.
Throttle End, 1/4" Male with Stud, Right Hand (1 ea 1/4" Nylok)
Throttle End, 1/4" Female with Stud, Left Hand
Throttle End, 1/4" Female with Stud, Right Hand (1ea 1/4" Nylok)
Trackmaster Il Tires
Tube, Trackmaster Il 3.40/3.00-5
Tires, (CST) HD 12x4-5 *(Red Stripe)
Tube, CST 3.40/3.00-5, Rotated 45 Deg. Stem
Toggle Switch (On/Off)
Toggle Switch Cover (Rubber Boot)
Toggle Switch Cover, Metal
U Plate New Style 4"
U Plate New Style, 6"
Upholstery, Crotch Pad, Driver, New Style
Upholstery, Steering Wheel Pads
Lug Nuts, Tapered, 3/8"
Lug Nuts, Flat, 3/8"
Wheels, Heavy Duty (Pr.) (2-Piece), Tapered with hardware *(Powder Coated Silver)
Wheels, Heavy Duty, Pair, 2-Piece, Flat with hardware *(Powder Coated Silver)
OPTIONS
Nerf Bar, Front, 2S, New Style
Nerf Bar, Rear, 2S, New Style



ITEM
147B
150D
109
317C

*kkkkkk

*kkkkkk

317FB
317FBL
317FC
317FR
317E

454A
850F
850E
850K
851A
666A
726
T26AA
729
8563A
814
814A
679
196ABV
196ACF
172F2
328

259
239LPB
239LPCY
239LPDB
239LPDG
239LPLB
239LPLG
239LPMB
239LPO
239LPP
239LPR
239LPW
239LPY
239RPB
239RPCY
239RPDB
239RPDG
239RPLB

QTY

1
2
1
2
2
2
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
2
2
2
2
2
2
2
2

DESCRIPTION
Nerf Bars, Side, 2S, Per Kart, Weld on
Bumper Washer Plate 3" x 4-1/4" W/ One Hole, 2S
Aluminum, Floor Plate, 2S (2 pcs.)
Wing Bracket, Bolt On, 2S, SS, Uph. Seats ea.
Wing Bracket, Bolt On, 2S, plastic seat with, Flambeau Fuel tank ea.
Wing Bracket, Bolt On, 2S, Plastic Seat, EA
Wing, Plastic, Black
Wing, Plastic, Blue
Wing, Plastic, Carbon
Wing, Plastic, Red
Wing Support, Black Angle
Wing Support, Stainless
Hour Meter, SenDec
Brake Light, Light
Brake Light, Switch
Brake Light, Wiring Harness
Headlight
Fenders, Front, 2S, Pair
Kartrol EXE Receiver (Programmable) (Yellow Label) with harness no sensor
Kartrol EXE Receiver (Programmable) (Red Label)for new 9HP Motor with harness no sensor
Kartrol EXE, Pit Control Sensor
Frame Rail Upgrade, 2S, Thicker Tube & HD Axle Hangers
Seat Summit, SUM-G2100, Plastic Bucket Seat
Seat Summit, Cover, 3/4 Length
Seat, Plastic Bucket, JAZ Low Back Bucket Seat
Upholstery, Headrest, (Complete), Big *BLACK VINYL
Upholstery, Headrest, (Complete), Big *CARBON FIBER
D Rubber, 4" New HD 2
4" Flat Plate With Counter Sunk Hole
D Rubber, Bushings (Spacer)
Side Panel, 2S, (Left), Plastic Seat, Black
Side Panel, 2S, (Left), Plastic Seat, Caution Yellow
Side Panel, 2S, (Left), Plastic Seat, Dark Blue
Side Panel, 2S, (Left), Plastic Seat, Dark Green
Side Panel, 2S, (Left), Plastic Seat, Light Blue
Side Panel, 2S, (Left), Plastic Seat, Lime Green
Side Panel, 2S, (Left), Plastic Seat, Medium Blue
Side Panel, 2S, (Left), Plastic Seat, Orange
Side Panel, 2S, (Left), Plastic Seat, Purple
Side Panel, 2S, (Left), Plastic Seat, Red
Side Panel, 2S, (Left), Plastic Seat, White
Side Panel, 2S, (Left), Plastic Seat, Yellow
Side Panel, 2S, (Right), Plastic Seat, Black
Side Panel, 2S, (Right), Plastic Seat, Caution Yellow
Side Panel, 2S, (Right), Plastic Seat, Dark Blue
Side Panel, 2S, (Right), Plastic Seat, Dark Green
Side Panel, 2S, (Right), Plastic Seat, Light Blue



ITEM QTY DESCRIPTION

239RPLG Side Panel, 2S, (Right), Plastic Seat, Lime Green
239RPMB Side Panel, 2S, (Right), Plastic Seat, Medium Blue
239RPO Side Panel, 2S, (Right), Plastic Seat, Orange
239RPP Side Panel, 2S, (Right), Plastic Seat, Purple
239RPR Side Panel, 2S, (Right), Plastic Seat, Red
239RPW Side Panel, 2S, (Right), Plastic Seat, White
239RPY Side Panel, 2S, (Right), Plastic Seat, Yellow
239AL Side Panel, 2S, Stainless, Plastic Seat, (Left)

239AR Side Panel, 2S, Stainless, Plastic Seat, (Right)



